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Physics 101  Midterm2 20003W

(7> 1. The figure following shows the displacement of a sinusoidal wave travelling in the negative x-direction
along a stretched string as a function of position (x) at time t = 0.00 and t =1.30 ms. Determine:
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d) write an equation to describe the motion — include a numerical value for the phase constant ¢.
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¢) what is the maximum and minimum particle speed for an element of the string?
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@ 2. A damped harmonic oscillation, losses 6.0% of its mechanical energy per cycle. After how many periods will the

amplitude h?ccreased to 30% of its original value? \D ._r b o
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1) the frequency of one overtone is 280 Hz and the next

<3_> 3. When a 70.0 cm long pipe is immersed in a gas (not ai
~ overtone is 350 Hz. 250 = ABO —> A0 = |y > FO
i) determine the fundamental frequency of the pipe, is it open or closed?
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i) determine the speed of sound in the gas.
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istener is sitting 25.0m from one speaker and 29.0 m from the other.
and the frequency is slowly varied from 20 to 300 Hz. If the speed

( ) 4. Two loud speakers are located 3.00 m apart. Al
Both speakers are connected to the same amplifier
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of sound is 343 m/s
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b) At what frequencies will the listener h€ar a minimum intensity? ~ &Y =
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ity of sound wave A is 100 times that of sound wavZB. Relative to wave B the sound level of wave A is:
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6. Which of the following graphs represents the displacement from equilibrium and
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(l) * particular instant for a sinusoidal sound wave? )
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. When a string, with a mass of 430 grams attached to it, is shaken at a frequency of 120 Hz 2 “loops” are observed.
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"~ What %{would need to be attached to thc?tring if four loops are observed.
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